
R 365 DS I ProRotor 360

Samlevejledning
Assembly Instruction
Montageanleitung
Liste de montage

X02
Sta

rt h
ere



PR80-0804

  
   
 
½ 

Ma  Ø Grade: 8.8 
MA[Nm] (lb-ft) 

Grade: 10.9 
MA[Nm] (lb-ft) 

Grade: 12.9 
MA[Nm] (lb-ft) 

M 8 25 (18) 33 (25) 40 (30) 
M10 48 (35) 65 (48) 80 (60) 
M12 80 (59) 120 (89) 135 (100) 
M12x1,25 90 (66) 125 (93) 146 (108) 
M14 135 (100) 180 (133) 215 (159) 
M14x1,5 145 (107) 190 (141) 230 (170) 
M16 200 (148) 280 (207) 325 (240) 
M16x1,5 215 (159) 295 (218) 350 (259) 
M18 270 (199) 380 (281) 440 (325) 
M20 400 (295) 550 (406) 650 (480) 
M20x1,5 430 (317) 615 (454) 720 (532) 
M24 640 (472) 900 (664) 1100 (812) 
M24x1,5 690 (509) 960 (709) 1175 (867) 
M30 1300 (959) 1800 (1328) 2300 (1697) 

PAFS-003x-02 - 00 



PAFS-003x-02 - A

R 365 DS / ProRotor 360

3



PAFS-003x-02 - B

Box1

2 x

4 x

10 x  

Box 1.1

 
 

4



PAFS-003x-02 - C

Box 1.1

1 x M18 Nyloc

1220-6319

11 x M14 Nyloc

1220-4326

1 x M10 Nyloc

1220-3321

2 x M10

1220-3122

10 x M8 Nyloc

1220-2321

13 x M6 Nyloc

1220-1323

2 x Ø30 / 42 x 2,5

1241-7908

2 x Ø21 / 27 x 3,0

1241-5504

2 x Ø17 / 30 x 3,0

1241-4502

2 x Ø13 / 25 x 3,0

1241-3508

12 x Ø13 / 24 x 2,5

1241-3403

1 x Ø11 / 20 x 2

1241-2403

5 x Ø10 / 20 x 2,5

1241-2401

10 x Ø 9 / 16 x 2

1241-1403

13 x Ø 7 / 12 x 1,6

1241-1208

4 x Ø12

1242-9026

10 x Ø14

1242-9024

2 x Ø28.8 / 40 x 4.0

0657420

13 x M6 x 16

1215-1123

2 x M8 x 25

1213-2224

2 x M10 x 25

1213-3224

1 x M10 x 30

1213-3322

1 x M12 x 25

1213-4224

1 x M10 x 60

1214-3226

11 x  M14 x1,5 x 90

1214-4334

1 x M18 x 120

1214-5421

10 x 0625700

1 x Ø20,4 / 26,9 x 6

0622900

1 x Ø40 /30,25 x 68

0634070

1 x Ø30 /18,1 x 70

0637591

1 x Ø25 / 14,5 x 32,8

0609280

1 x 1625270

1 x 0124130

1 x 0464040

10 x Ø10 x 45

1254-4201

1 x Ø28 x 115

0665120

1 x Ø12 x 80

0602140

2 x Ø 8 x 40

1251-5305

2 x Ø 3,5 x 32

1251-1203

2 x Ø 6 x 32

1251-4206

2 x Ø 6 x 26

1251-4106

2 x Ø 3,5 x 26

1251-1104

1 x 0127330

1 x 0517440

10 x 0626910

2 x Ø13 / 37 x 3

1241-3509

10 x M12 Nyloc

1220-4321

2 x M12 x 80

1214-4326

2 x M12 x 80

1213-4722

4 x M12 x 40

1213-4422

2 x M12 x 35

1213-4324

1 x Ø 6 x 65

1251-4503

2 x  10 x 80

1630060

2 x Ø 21,5 / 14,8 x 52

0638600

2 x Ø35 / 25,1 x 15

2510-078x

4 x M8

0626580

 
 

5



C

PAFS-003x-02- 01

1 x 0464040

1 x 1625270

1 x 0622900

1 x 1251-4106

1 x 1251-1104

+200 kg.

 
 

6



A

B

PAFS-003x-02- 02

1 x 0609280

1 x 1214-4334

1 x 1220-4326

1 x 1251-4503

1 x 0602140

2 x 1251-1203

2 x 1251-4206

2 x 1241-5504

1 x 0609270

+200 Kg.

 
 

7



A

B

PAFS-003x-02- 03

1 x 0517440

1 x 0127330

2 x 0657420

2 x 1241-7908

1 x 0665120

2 x 1251-5305

+200 Kg.

 
 

8



A

PAFS-003x-02- 04

1 x 1220-6319

1 x 0637591

1 x 1214-5421

1 x 0634070

1 x 0634020

1 x 1241-3403

1 x 1213-4224

1 x 1241-3403

1 x 1213-3322

 
 

9



PAFS-003x-02- 05

2 x 1213-4722

2 x 1241-3403

2 x 1220-4321

2 x 1213-4324

4 x 1213-4422

2 x 1242-9026

2 x 1220-4321

4 x 1220-4321

8 x 1241-3403

 
 

10



1 

1

PAFS-003x-02- 06

1 x 1251-4106

1 x 1251-1104

2 x 1241-4502

1 x 1214-3226

1 x 1241-2401

1 x 1220-3321

2 x 1220-2321

2 x 1241-1403

2 x 1213-2224

 
 

11



1 

1

A

BB

PAFS-003x-02- 07

10 x 1220-4326

10 x 1242-9024

9 x 0625700

10 x 1214-4334 - 160Nm

 
 

12



B

PAFS-003x-02- 08

8 x 1220-2321

8 x 1241-1403

2 x 1630060

2 x 1214-4326

2 x 1242-9026

2 x 1220-4321

1 x 0124130

4 x 0626580

2 x 0638600

1 x 1631900

1 x 1631830

 
 

13



PAFS-003x-02- 09

10 x 0626910

10 x 1254-4201

10 x 1632050

1 x 0621630

13 x 1215-1123

4 x 0621620

1 x 2520-313B [R DS]

1 x 3520-323X [ProRotor]

1 x 0621640

13 x 1241-1208

13 x 1220-1323

2 x 1213-3224

4 x 1241-2401

2 x 1220-3122

 
 

14



PAFS-003x-02 - A

R 365 DS / ProRotor 360

 
 

15



PA
FS

-0
03

x 
02

 R
 3

65
 D

S 
I P

ro
Ro

to
r 3

60
 - 

08
.2

01
8




